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(Teacher's Signature)

i;
*
!
&

TS =
e T =32
S | ryee
R e
S ==

0
|
i
2

:
g
:4

Rz =Tl
Moo =2
5 =
S ez ryee
e 4y bl
e =2 330
= S35
=S =303
G T
Qe P9
= e
Sese = ==t
Sres= = S2055
e =22
Z =
e Gt
S i
TS =2
S Y
St =y
SN ==
vl reo
o Y [l =
S saas %
Y e
SERTS ===k
52 SIS
s =Ry

5

b
"\
5%

\

by
i
i
i

T
l

4

p -

-

(73]

<

n e (8]

Q © ©
—

= o (0]

o 00 —
-+

% T w8

> N [7))]

= — c

© ©

S S om

> -+

] d (%]

S = =t
e © S Q S
e o z S = =
= ? & o ==
e £ O = 00 o

3 .nn N S a w3
e T Cc c =325
S = (D) — =
== c - =2
s n (a4 © o
et g C (] L
e t—— [3) d — =2 i)
e - > Q ==
v © c =
Sl S (] (=%
e 2 o c € T <
et ) - — c ===
e [7,) - © oo
S e > © B s
e 4y —_— < 0 > B
SaTEEs = > 0 =< ==
SEs > = < Na] ==
Sl Y (] Q. e
e w0 — (O] [ [t -
S X o ==
Gmies (73] © ) © =
e~ [O) — o= =22
e ~ 0 e
N O 5 o c =_
S o O %= © o =i
S = ==
\@n 3 O W - ; MWW//
o 0] © © = =%
Sieis (0] =2

e 7)) - =

s f ®m Em s P

QA M2

= = =
s ==t
et o T s
SE e Lz,
== O =
e ==
Sty © 0 oS
c =%
©

T
i

This student has also demonstrated understanding of the vocabulary
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